R DTSR 111
L R v
e B B et vi
Bl B et vii

2.3

*}
I

5 o
3.1
3.2
3.3
34
3.5
N 2 o

4.1
4.2
4.3

B e, 1
A B e 1
FIF B B 2 JE s 1
B I ettt eneens 2

B2 A BT 5t e 3

%"Hi#%?ﬁé)gkwﬂéﬁ ....................................................................... 3
221 AEAERTEANETE &, 4
2.2.2 A58 3N B IR o e e 5
FEE TR A e 8
231 410 AN HBE SBEZ B e, 9
232 BB TEZ B e 13
F AP HBIEIER e 25
5L e 25
P T I 2 2K 3 B e 25
A AT B IT e 26
R E R IR B e 27
R 17 5 e 29
FEREF B oo 63
FRHBOIE RIS e 63
EPTEAE 3 oo 64
FEILFEAE I B oot s 67

v



A5 B e 70
- L
IR BE AN BRI e, 94
5.1 FEIE e,
S 94
52 BE BRI A,
ERE S — 94
$2 R BHo
I —— 98



E TS I 1 OO 36
T 1 36
Fe 33 BRI R A BRI s 37
2041 BFUMARNA 2B A PRAEE  EFEEh . 72
A L L 73

vi



Bl 2.1 F LA FTHEA] e 14
B] 2.2 A 3T A PE B BBl e 14
B23 ERE%=E05% & HPNZ H-WF /-2 ¥ 2535453 2
JE? VU BBl oo 15
Bl24 REFR4 4% %% H-PN 2 H-WF /n 2 ¥ 2 %5485 2
PEEQ index 'Y FIB] c.ovvveeiiieiieeee e 15
B 25 kA4t 05% 5%& H-WF 2 B-WF ;L2 X > %548
2O VR HBRBBL e 16
B 2.6 kF%i=4 4% %A H-WF 2 B-WF ;2 ¥ 2354855 2
PEEQ index " $EBB] .ooooveiiiieeiecee e 16
B 2.7 B EF%i4i05% 558 H-PN 2 H-WF /-2 & % 4| B 3 ez
)i AR i I G == F |G & % N R 17
Bl 2.8 & %4 4% 558 H-PNZ H-WF /-2 ¥ %3 B3
PEEQ index 't ). i e 17
B 29 & F%i=4& 05% %% H-WF 2 B-WF ;-2 ¥ 54 B 3t
2O VR HBRBBL e 18
B 2.10 & FF i 4 4% 55 & H-WF 2 B-WF ;- % § % 3| B 3¢ 2
PEEQ index 'Y $EBB] .oooovviiiiie e 18
B 2.11 $#-73] H-PN 2 von Mises & ? 24 1 Bl coeeeeeeeeeeeeeeeeeeeeeeeee, 19
B 2.12 -3 H-WF 2 von Mises & ? 4 15 Bl coeeeeeeeeeeeeeeeeeeeeeeee 20
B 2.13 -3 B-WF 2. von Mises J& # 4 1 Bl .oooeeeeeeeeeeeeeeeeeeeeeeen, 21
B 2.14 #7) H-PN 2 PEEQ /&% 4 15 Bl eooeeeeeeeeeeeeeeeeeeeee e 22
Bl 2.15 #-3) H-WF 2. PEEQ B3 4 W Bl oo, 23
Bl 2.16 #-7) B-WF 2. PEEQ B 4 1 B] cooveeeeeeeeeeeeeeeeeeeeeeeee e 24
Bl 3.1 B E N R T BBl oo 38



Bl 32 34 R -TERM B o, 38

B 3.3 ZEBE WEFG-1 2055 2 5080 oo 39
B 3.4 ZEBE WEFG-2 2055 2 5080 oo 40
B 3.5 ZEBE WEFG-3 2055 2 5080 oo 41
B 3.6 ZEBE WEFT-1 205 2 5080 oo 42
B 3.7 ZEBE WEFT-2 205 2 5080 oo 43
B 3.8 ZEZRZE B BBl oo 44
Bl 3.9 BRI R BALE Bl oot 45
B 3.10 5 F AR oo 46
B 4.1 288 PN 2 32 BBl oo 74
Bl 4.1 2288 PN 2 B3 3% BIRD () oerreeeeeeeeeeeeeeeeeeseeeseeseeessnns 75
B 4.2 288 WFG-1 2. B F BBl .ot 76
Bl 4.2 248 WF6-1 2 & Fa BIRIICHE).. i, 77
Bl 4.3 3240 WF6-2 2. 28753 BB L e, 78
B 4.3 F88 WF6-2 2 B BB () oo, 79
B 4.4 288 WF6-3 2 B BB oo 80
B 4.4 E88 WF6-3 2 8% 12 BB () oo 81
B 4.5 288 WF7-1 2 B BB oo 82
B 4.5 #48 WEF7-1 2 %32 BIB] (F) oo 83
B 4.6 2588 WEF7-2 2. B0 BB oo 84
Bl 4.6 ;288 WF7-2 2. &% BBl (F) .o, 85
B 4.7 88 WFO-1 %23 103 Bl oo 86
B 4.8 288 WF7-1 B2 028 Bl 86

viii



B 4.9 FH PN 2 2B F % B oo 88
¥

B 4.10 :#%8 WF6-1 2 2 H & P B v B e, 89
B 4.11 %8 WF6-2 2. 2 ¥ 22 ' JE S8 VL BB o, 90
B 4.12 :#%8 WF6-3 2. 2 g5 B R F VR Bl oo, 91
B 4.13 :#%8 WE7-1 22 205 B W R F YV RBl e, 92
Bl 4.14 :#%8 WE7-2 2 205 B W R F YV RBl e, 93

X



3.2
3.3

3.4

3.5
3.6
3.7

3.8

3.9

3.10
7 3.11

312

3.13

3.14

3.15

3.16

3.17

BRI AR 2 T e 47
B BRI B ot 47
FHAEFTRIREFEE FT) o, 48
HHPN SR T AS 2SR FAA S FAMERR

(0.75% AITf).eeeeeeiieeeeie e 48
FHPNEHFE2Z 2 42EHZ 2%drift) e, 49

EE PN T ¥ 22 B8 A 4 s B A (3% drift) 49

FHPNFEFLCTA S 2 #EH G%drift) e, 50
#14 WFo-1 *“iﬁ’f Frri8d s 5B s R R
wE Al BAA]E (%A ., 50
P WF6-1 *t B F FISR RN R o oo X £ A &%

(2% drift)........... N P = 51
EH WF6-1 28 VR IREET 4w iE (3% drift)........ 51
FH OWF6-1 7 H 4 4 P& B 30 By (5% drift)........ 52
P88 WFo-1 B v R W r R ig & 4 B d 5 304 A,

(5.8% dArift)...cveeeeeeiiiee e 52
A WF6-2 »v 3 B 2 7% 35 803 2 R T A A 3 38 r
H 5 PEHE (0.75% drift) oo 53

= ) WF62*“”‘£%F$ 2. HARE S AR I A
kAT ARG (2% AETE) e 53
ki WF62*‘“”“£1‘F_P 2 rBGER 5BV S R
R AR (2% AEfE) e 54
R WF6-2 *t ™ FAr 8 4 KR h » g a & A&
SR S T X (5% drift) oo 54
A OWF6-2 5 % T H g4 BRE Aty ® X4



3.18

3.19

3.20

3.21

3.22

3.23

3.24

3.25

3.26

3.27

3.28

3.29

3.30

3.31

EFRFLFHFNGAL (5.8%drift) o 55

4 WF6-3 > 2 F i sk I » 2 X455 %
ASB I A e H]E s R S g 0 (1.5% drift) .............. 55

S WF6-3 50 B F 4 b ch 4 4 304 % ¢ BT
(8% AEITE) oo ee e 56

A WF6-3 2t % = i B+ X e 577 B 3t 2 #5358 A
g 30mm (4% drift) e, 56

EPWEF6-3 0 % - w Bl > vl 2T 322548
HELA 4 BB (5% drift) oo 57

B OWF6-3 22 f = AR T F 5 ILM AR 3Nk
B (5.8% Q). 57

R WEFT-1 52 B 3t . B & #0300 ¥ 82 B 5w % 45
B b g ¥ (1.5%AEt) mn v 58

i WET-1 5 S 2R o 5 2 s e @
LE (3% ity i e 58

Fé%"' WE7-1 B % R B0 G0 ¥ 3 407 2 3 Flv % 23
Faw (4.7% drift)...... s e 59

A WE7-2 30 2 8 273848 P A A EH 400 B F
LELZ B A ED B o RigstikaE ¥ (1.5% drift) .. 59

SERY WEF7-2 0 32 FAF F5% % =h 2 o 05 5% 7 4 415
W50 LB S o B (2% i) e 60

am;

PR OWET-2 50 g o R A f g B 4e X REE P 00
o g A 4 (3% drlft) ................................. 60

FHWEFT2 R8P 2 2 AREPE FHERF
B % 328 P8 R (4% drift) cooeeeei 61

;i"?_%? WF7-2 3% = % B|pF 22T gjkg‘/]—ﬁ - E—f;
& P ] (A% ATE) weooroeeeeeeeeeeee e 61

SR WF7-2 bt A ST EHF o5 S
D P RO <1 1) DI 62

X1





